
   

 
Name:______________                                      Class : II___                                                 Date:01.03.2025                                                            

Roll No: ______     Final -Term Test (2024- 2025)      Subject: Maths  

Time: 2 hours 30 minutes                                                                                                        M.Marks: 50                                                                                                  

                           Section A 

   Q1.Tick the correct option:                                                                                               (5) 

       (i)   48 ÷  8 =  _______  

             (a) 6                              (b) 7                           (c) 8                             (d) 4 

         (ii)  Emily has 9 chocolates. She gives 3 chocolates to her sister. Which operation will be  

                used to find the number of chocolates left ?                          

             (a) Addition                 (b) Subtraction           (c) Multiplication         (d) Division 

      (iii)  Forty rupees fifty paise can be written as ___________ 

             (a) ₹40.05                     (b) ₹14.50                  (c) ₹45.05                     (d) ₹40.50 

      (iv)  How many days are there in month of February in a leap year? 

             (a) 31                            (b) 29                         (c) 28                            (d) 30 

      (v)  Quantity of soup in a bowl will be measured in _____________. 

             (a) millilitre                 (b) litre                        (c) grams                      (d) none of these 

   Q2.True / False :                                                                                                                  (5) 

      (a)   0 ÷  12 = 0                                                                                      ___________ 

      (b)  There are 12 hours in a day.                                                            ___________ 

      (c)  1 l = 1000 ml                                                                                    ___________                                                     

      (d)  The numeral for three hundred ninety is 319                                  ___________ 

      (e)  August comes between July and September.                                   ___________ 

   Q3.Fill in the blanks :                                                                                                          (5) 

        (a)   54 ÷ 6 = ______  

        (b)  1 hour = ________ minutes                                                     

        (c)   If today is Friday, it was______________ yesterday. 

      (d)  18 ÷ 1 =    _________ 

        (e)  Christmas falls in the month of ________________. 

     Q4.Dodging tables:                                                                                                               (4) 

            (a) 9 x 4= _____        (b) 7 x 5 = _____        (c) 6 x 2 = _____          (d)  3 x 6 = _____                                     

            (e) 8 x 9  = _____      (f)  10 x 8 = ______    (g) 12 x 8 = _____       (h) 11 x 10 = _____  

 

 



 
                            Class II 

                                                                             Section B  

        Q5. Write number names:                                                                                                 (2) 

      (a) 411 -  __________________________________________________.                                               

      (b) 583 - ___________________________________________________.         

  Q6. Match it :                                                                                                                      (2) 

      (a)  3 o’clock                                                                 August 

      (b)  shortest month                                                        3:00 

      (c)  eighth month of the year                                         February 

      (d)  half past 3                                                               3:30 

  Q7. Tell the time:                    (2) 

      (a)                        (b) 

 

 

 

            ________________         _________________ 

 Q8. Write in words :                                  (2) 

      (a) ₹ 243.30  = ___________________________________________ 

      (b) ₹ 73.50 =_____________________________________________ 

 Q9. Draw the hands of the clock:                       (2) 

      (a)                       (b) 

 

 

                       4:00                        12:30                                                        

Q10. Add these:                                                                                                                   (2) 

   (a) ₹ 200 + ₹ 40 + 30 p    =  ______________  

     (b)  50 p + 30 p + 10 p   =    ______________ 

Q11. Circle the correct answer :                                                                                        (2)     

      (a) ₹ 10 =                                      100 p                        10 p                     1000 p                           

      (b) 24 ÷  6   =                                   3                               4                         8 

      (c) 600 p =                                ₹ 60                         ₹ 6                       ₹ 600 

            (d) 8 + 8 + 8 + 8 =                           40                            24                        32    

                                                                                                                                                                                                                                                                                       

 



                   
                                                                                                                                             ClassII  

Q12. Write two division facts for the following multiplication fact.                              (2) 

          12 x 5 = 60 

   Sol: _______________________,    _________________________            

                                                               Section C   

Q13. Put sign >, < or =                     (4) 

     (a)  4 x 9                30 + 8                                        (b)  Twice of 8              32 ÷ 4  

     (c) 23 l  650 ml                  15 l  650 ml                   (d)   ₹ 5               300 p 

Q14. Multiply these:                                                                                                            (3) 

     (a)    H     T     O                                              (b)      H    T    O 

              3      0      4                                                          5     1     3 

                      x      4                                                                   x    8  

                                         

Q15. Do  these:            (3) 

       (a)        l         ml                                              (b)        l           ml                                   

        7 9     5 2 2                                                     5 2       4 9 5                                  

      +  1 4     2 8 6                                                     1 7       1 8 2                           

                                                                                                                                                            

Q16.  Word Problem:                                                                                                           (5) 

   (a)  Rita has 49 pencils. She wants to distribute them equally among 7 girls. How            

        many pencils will each girl get? 

  Sol:  ____________________________________________________________________ 

           ____________________________________________________________________ 

 ____________________________________________________________________  

 ____________________________________________________________________ 

   (b)  Shilpa paid ₹ 367 for a book and ₹ 125 for a packet of pens. What is the total amount              

          spent by her ? 

Sol:  ____________________________________________________________________ 

         ____________________________________________________________________ 

         ____________________________________________________________________  

         ____________________________________________________________________ 

 



   

 
Name:______________                                      Class : II___                                                 Date:01.03.2025                                                            

Roll No: ______     Final -Term Test (2024- 2025)      Subject: Maths  

Time: 2 hours 30 minutes                                     Answerkey                                                 M.Marks: 50               

                           Section A 

   Q1.Tick the correct option:                                                                                               (5) 

       (i)   48 ÷  8 =  _______  

           √(a) 6                              (b) 7                           (c) 8                             (d) 4 

         (ii)  Emily has 9 chocolates. She gives 3 chocolates to her sister. Which operation will be  

                used to find the number of chocolates left ?                          

             (a) Addition               √(b) Subtraction           (c) Multiplication         (d) Division 

      (iii)  Forty rupees fifty paise can be written as ___________ 

             (a) ₹40.05                     (b) ₹14.50                  (c) ₹45.05                   √(d) ₹40.50 

      (iv)  How many days are there in month of February in a leap year? 

             (a) 31                         √(b) 29                          (c) 28                            (d) 30 

      (v)  Quantity of soup in a bowl will be measured in _____________. 

           √(a) millilitre                 (b) litre                        (c) grams                      (d) none of these 

   Q2.True / False :                                                                                                                  (5) 

      (a)   0 ÷  12 = 0                                                                                      True 

      (b)  There are 12 hours in a day.                                                            False 

      (c)  1 l = 1000 ml                                                                                   True                                                     

      (d)  The numeral for three hundred ninety is 319                                  False 

      (e)  August comes between July and September.                                  True 

   Q3.Fill in the blanks :                                                                                                          (5) 

        (a)   54 ÷ 6 =  9    

        (b)  1 hour = 60  minutes                                                     

        (c)   If today is Friday, it was   Thursday   yesterday. 

      (d)  18 ÷ 1 =  18 

        (e)  Christmas falls in the month of    December   . 

     Q4.Dodging tables:                                                                                                               (4) 

            (a) 9 x 4=   36           (b) 7 x 5 =   35           (c) 6 x 2 =   12             (d)  3 x 6 =   18                                        

            (e) 8 x 9  =   72         (f)  10 x 8 =   80        (g) 12 x 8 =   96           (h) 11 x 10 =   110     

 

 



 
                            Class II 

                                                                             Section B  

        Q5. Write number names:                                                                                                 (2) 

      (a) 411 –   Four hundred eleven.                                               

      (b) 583 -    Five hundred eighty three.         

  Q6. Match it :                                                                                                                      (2) 

      (a)  3 o’clock                                                                 August      (c) 

      (b)  shortest month                                                        3:00           (a) 

      (c)  eighth month of the year                                         February   (b) 

      (d)  half past 3                                                               3:30           (d) 

  Q7. Tell the time:                    (2) 

      (a)                        (b) 

 

 

 

            Half past 1/ 1:30                        8 o’clock / 8:00 

 Q8. Write in words :                                  (2) 

      (a) ₹ 243.30  =  Two hundred forty three rupees thirty paise/ 243 rupees 30 paise 

      (b) ₹ 73.50 =     Seventy three rupees fifty paise/ 73 rupees 50 paise  

 Q9. Draw the hands of the clock:                       (2) 

      (a)                       (b) 

 

 

                       4:00                        12:30                                                        

Q10. Add these:                                                                                                                   (2) 

   (a) ₹ 200 + ₹ 40 + 30 p    =   ₹ 240.30 

     (b)  50 p + 30 p + 10 p   =      90 p 

Q11. Circle the correct answer :                                                                                        (2)     

      (a) ₹ 10 =                                      100 p                        10 p                     1000 p                           

      (b) 24 ÷  6   =                                   3                               4                         8 

      (c) 600 p =                                ₹ 60                         ₹ 6                       ₹ 600 

            (d) 8 + 8 + 8 + 8 =                           40                            24                        32    

                                                                                                                                                                                                                                                                                       

 



                   
                                                                                                                                             ClassII  

Q12. Write two division facts for the following multiplication fact.                              (2) 

          12 x 5 = 60 

   Sol:  60 ÷ 12 = 5 ,     60 ÷ 5 = 12            

                                                               Section C   

Q13. Put sign >, < or =                     (4) 

     (a)  4 x 9                30 + 8                                        (b)  Twice of 8              32 ÷ 4  

     (c) 23 l  650 ml                  15 l  650 ml                   (d)   ₹ 5               300 p 

Q14. Multiply these:                                                                                                            (3) 

     (a)    H     T     O                                              (b)      H    T    O 

              3      0      4                                                          5     1     3 

                      x      4                                                                   x     8  

        1 2      1      6                                       4 1     0     4                          

Q15. Do  these:            (3) 

       (a)        l         ml                                              (b)        l           ml                                   

        7 9     5 2 2                                                     5 2       4 9 5                                  

      +  1 4     2 8 6                                                     1 7       1 8 2     

          9 3 l    8 0 8  ml                   3 5 l     3 1 3  ml                                                                                                                                                              

 

Q16.  Word Problem:                                                                                                           (5) 

   (a)  Rita has 49 pencils. She wants to distribute them equally among 7 girls. How            

         many pencils will each girl get? 

  Sol:   Number of pencils = 49 

            Number of  girls = 7 

 Number of pencils each girl will get = 49  ÷  7 = 7 pencils 

   (b)  Shilpa paid ₹ 367 for a book and ₹ 125 for a packet of pens. What is the total amount              

          spent by her ? 

Sol:   Cost of a book =                      ₹ 3  6   7 

          Cost of a packet of pens =  +  ₹ 1   2   5 

          Total cost =                             ₹ 4   9   2 

 

 

< 

> 

 

> 

 
> 

 


